

RENDICONTI
del
SEMINARIO MATEMATICO
della
UNIVERSITÀ DI PADOVA

G. K. DHAWAN

**Some generating functions for associated
Legendre functions**

Rendiconti del Seminario Matematico della Università di Padova,
tome 38 (1967), p. 60-68

http://www.numdam.org/item?id=RSMUP_1967__38__60_0

© Rendiconti del Seminario Matematico della Università di Padova, 1967, tous droits réservés.

L'accès aux archives de la revue « Rendiconti del Seminario Matematico della Università di Padova » (<http://rendiconti.math.unipd.it/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques
<http://www.numdam.org/>

SOME GENERATING FUNCTIONS FOR ASSOCIATED LEGENDRE FUNCTIONS

G. K. DHAWAN *)

1. INTRODUCTION. This paper will present a couple of generating functions for associated Legendre Functions defined [1, p. 122] by

$$(1.1) \quad P_n^m(x) = \frac{1}{\Gamma(1-m)} \left(\frac{x+1}{x-1} \right)^{\frac{1}{2}m} {}_2F_1 \left[\begin{matrix} -n, n+1; \\ 1-m; \end{matrix} \frac{1}{2} - \frac{1}{2}x \right]$$

(|1-x| < 2)

and

$$(1.2) \quad Q_n^m(x) = e^{mi\pi} 2^{-1-n} \pi^{1/2} \frac{p(n+m+1)}{p\left(n+\frac{3}{2}\right)} x^{-n-m-1} (x^2-1)^{\frac{1}{2}m} \times$$

$$\times {}_2F_1 \left[\begin{matrix} \frac{1}{2}n + \frac{1}{2}m + 1, \frac{1}{2}n + \frac{1}{2}m + \frac{1}{2}; \\ n + \frac{3}{2}; \end{matrix} x^{-2} \right] \quad (|x| > 1)$$

where the functions $P_n^m(x)$ and $Q_n^m(x)$ are known as the Legendre functions of the first and second kind, respectively.

*) Indirizzo dell'A. : Maulana Azad College of Technology Bhopal - India.

The generating functions developed are :

$$(1.3) \quad \sum_{n=0}^{\infty} e^{im\pi} Q_n^m(x) t^n = \frac{\Gamma(-m)\Gamma(1+m)}{2} \left[\left(\frac{x-1}{x+1} \right)^m - 1 \right] \varrho^{-1-m} \times \\ \times \left[\frac{1}{2} (x+1)t \right]^{\frac{1}{2}m} \cdot P_m^m \left(\frac{1-t}{\varrho} \right)$$

where

$$\varrho = (1 - 2xt + t^2)^{\frac{1}{2}}$$

and with the restriction that m is not zero or positive or negative integer

$$(1.4) \quad \sum_{n=0}^{\infty} \frac{(1-m)_n}{n!} {}_2F_1 \left[\begin{matrix} -n, 1 \\ 1-m \end{matrix}; y \right] P_n^m(x) t^n = \\ = \mu^{-1-m} \left[-\frac{1}{2} ty(x-t+\varrho) \right]^{\frac{1}{2}m} P_m^m \left(\frac{\varrho+ty}{\mu} \right)$$

where

$$\mu = [1 - 2xt(1-y) + t^2(1-y)^2]^{\frac{1}{2}}$$

and

$$\varrho = (1 - 2xt + t^2)^{\frac{1}{2}}$$

$$(1.5) \quad \sum_{n=0}^{\infty} \frac{(1-m)_n}{n!} {}_1F_2 \left[\begin{matrix} -n \\ 1+m, 1-m \end{matrix}; y \right] P_n^m(x) t^n = \\ = \frac{\varrho^{-1}}{\Gamma(1+m)} e^{\frac{1}{2}mi\pi} J_{-m} \left\{ \left[\frac{2ty(x+t-\varrho)}{\varrho^2} \right]^{\frac{1}{2}} \right\} \times I_m \left\{ \left[\frac{-2ty(x-t+\varrho)}{\varrho^2} \right]^{\frac{1}{2}} \right\}$$

where

$$\varrho = (1 - 2xt + t^2)^{\frac{1}{2}}$$

and with the restriction that m is not an integer.

2. In this section we enlist some results for ready reference :

$$(2.1) \quad F_4 [a, b ; c, d ; x, y] = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(a)_{n+k} (b)_{n+k}}{k! n! (c)_k (d)_n} x^k y^n$$

which is formula (9) in [1 ; p. 224]

$$(2.2) \quad F_4 \left[\begin{array}{c} \alpha, \beta ; \\ 1 + \alpha - \beta, \beta ; \end{array} \frac{-u}{(1-u)(1-v)}, \frac{-v}{(1-u)(1-v)} \right] = \\ = (1-v)^{\alpha} {}_2F_1 \left[\begin{array}{c} \alpha, \beta ; \\ 1 + \alpha - \beta ; \end{array} \frac{-u(1-v)}{1-u} \right]$$

which is formula (8) in [1 ; p. 238]

$$(2.3) \quad {}_2F_1 \left[\begin{array}{c} a, b ; x \\ c ; \end{array} \right] = (1-x)^{-b} {}_2F_1 \left[\begin{array}{c} c-a, b ; x \\ c ; x-1 \end{array} \right]$$

which is formula (22) in [1 ; p. 64]

$$(2.4) \quad \varrho^{-1-n} P_n^m \left(\frac{x-t}{\varrho} \right) = \sum_{k=0}^{\infty} \binom{n-m+k}{k} P_{n+k}^m(x) t^k$$

which is formula (2) in [2 ; p. 264]

$$(2.5) \quad P_n^{(\alpha, -\alpha)}(x) = \Gamma(1+\alpha) \left(\frac{x+1}{x-1} \right)^{\frac{1}{2}\alpha} \frac{(1+\alpha)_n}{n!} P_n^{-\alpha}(x)$$

which is result (8) in [4].

3. PROOF OF (1.3). In the proof, I shall use the expansion of $Q_n^m(x)$ in terms of $\frac{x-1}{x+1}$ as [1 ; p. 132]

$$e^{-im\pi} Q_n^m(x) = 2^{-1-n} \Gamma(m) (x+1)^{n+\frac{1}{2}m} (x-1)^{-\frac{1}{2}m} {}_2F_1 \left(-n, -n-m ; 1-m ; \frac{x-1}{x+1} \right) +$$

$$(3.1) \quad + 2^{-1-n} \frac{\Gamma(1+m+n)\Gamma(-m)}{\Gamma(1+n-m)} (x+1)^{-\frac{1}{2}m+n} (x+1)^{\frac{1}{2}m} \times \\ \times {}_2F_1\left(-n, -n+m; 1+m; \frac{x-1}{x+1}\right).$$

= A + B (say)

Now

$$A = 2^{-1-n} \Gamma(m)(x+1)^{n+\frac{1}{2}m} (x-1)^{-\frac{1}{2}m} {}_2F_1\left(-n, -n-m; 1-m; \frac{x-1}{x+1}\right) \\ = \frac{\Gamma(m)}{2} \left(\frac{x+1}{x-1}\right)^{\frac{1}{2}m} \sum_{k=0}^n \frac{(1)_n (1+m)_n}{k!(n-k)!(1-m)_k (1+m)_{n-k}} \times \\ \times \left[\frac{1}{2}(x-1)\right]^k \left[\frac{1}{2}(x+1)\right]^{n-k}$$

Multiplying both sides by t^n and summing as indicated, we have

$$\sum_{n=0}^{\infty} A t^n = \frac{\Gamma(m)}{2} \left(\frac{x+1}{x-1}\right)^{\frac{1}{2}m} \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(1)_n (1+m)_n}{k!(n-k)!(1-m)_k (1+m)_{n-k}} \times \\ \times \left[\frac{1}{2}(x-1)t\right]^k \left[\frac{1}{2}(x+1)t\right]^{n-k} \\ = \frac{\Gamma(m)}{2} \left(\frac{x+1}{x-1}\right)^{\frac{1}{2}m} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(1)_{n+k} (1+m)_{n+k}}{k!n!(1-m)_k (1+m)_n} \times \\ \times \left[\frac{1}{2}(x+1)t\right]^k \left[\frac{1}{2}(x+1)t\right]^n$$

and using the result (2.1)

$$(3.2) \quad = \frac{\Gamma(m)}{2} \left(\frac{x+1}{x-1}\right)^{\frac{1}{2}m} F_4\left[1, 1+m; 1-m, 1+m; \frac{1}{2}(x-1)t, \frac{1}{2}(x+1)t\right].$$

The hypergeometric function of two arguments in (3.2) can be represented as the product of two functions of unit argument.

Taking

$$\frac{-u}{(1-u)(1-v)} = \frac{1}{2}(x-1)t; \quad \frac{-v}{(1-u)(1-v)} = \frac{1}{2}(x+1)t$$

i.e.
$$u = 1 - \frac{2}{1+t+\varrho}; \quad v = 1 - \frac{2}{1-t+\varrho}$$

where

$$\varrho = (1 - 2xt + t^2)^{\frac{1}{2}}$$

and using the results (2.2), (2.3) and definition of $P_n^m(x)$ as (1.1) we get

$$\begin{aligned} \sum_{n=0}^{\infty} At^n &= \frac{\Gamma(m)}{2} \left(\frac{x+1}{x-1}\right)^{\frac{1}{2}m} \cdot \frac{2}{1-t+\varrho} \cdot \left[1 - \frac{1-t-\varrho}{1-t+\varrho}\right]^{-1-m} \times \\ &\quad \times {}_2F_1 \left[\begin{matrix} -m, 1+m; \\ 1-m; \end{matrix} \frac{1}{2} - \frac{1}{2} \left(\frac{1-t}{\varrho}\right) \right] \\ (3.3) \quad &= \frac{\Gamma(m)\Gamma(1-m)}{2} \varrho^{-1-m} \left[\frac{1}{2}(x+1)t\right]^{\frac{1}{2}m} P_m^m\left(\frac{1-t}{\varrho}\right). \end{aligned}$$

Again

$$\begin{aligned} B &= \frac{\Gamma(1+m+n)\Gamma(-m)}{\Gamma(1+n-m)} 2^{-1-n} (x+1)^{-\frac{1}{2}m+n} (x-1)^{\frac{1}{2}m} {}_2F_1 \left[\begin{matrix} -n, -n+m; \\ 1+m; \end{matrix} \frac{x-1}{x+1} \right] \\ &= \frac{\Gamma(1+m)\Gamma(-m)}{2\Gamma(1-m)} \left(\frac{x-1}{x+1}\right)^{\frac{1}{2}m} \frac{(1+m)_n}{(1-m)_n} \sum_{k=0}^n \frac{(1)_n (1-m)_n}{k!(n-k)!(1+m)_k (1-m)_{n-k}} \times \\ &\quad \times \left[\frac{1}{2}(x-1)\right]^k \left[\frac{1}{2}(x+1)\right]^{n-k}. \end{aligned}$$

Multiplying both sides by t^n and summing as indicated, we have

$$\begin{aligned} \sum_{n=0}^{\infty} Bt^n &= \frac{\Gamma(1+m)\Gamma(-m)}{2\Gamma(1-m)} \left(\frac{x-1}{x+1}\right)^{\frac{1}{2}m} \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(1)_n(1+m)_n}{k!(n-k)!(1+m)_k(1-m)_{n-k}} \times \\ &\quad \times \left[\frac{1}{2}(x-1)t\right]^k \left[\frac{1}{2}(x+1)t\right]^{n-k} \\ &= \frac{\Gamma(1+m)\Gamma(-m)}{2\Gamma(1-m)} \left(\frac{x-1}{x+1}\right)^{\frac{1}{2}m} \sum_{n=0}^{\infty} \sum_{k=1}^{\infty} \frac{(1)_{n+k}(1+m)_{n+k}}{k!n!(1+m)_k(1-m)_n} \times \\ &\quad \times \left[\frac{1}{2}(x-1)t\right]^k \left[\frac{1}{2}(x+1)t\right]^n. \end{aligned}$$

and using the result (2.1)

$$(3.4) = \frac{\Gamma(1+m)\Gamma(-m)}{2\Gamma(1-m)} \left(\frac{x-1}{x+1}\right)^{\frac{1}{2}m} F_4 \left[1, \quad 1+m; \frac{1}{2}(x-1)t, \frac{1}{2}(x+1)t \right].$$

Proceeding as above and using result (2.2), (2.3) and (1.1) we get

$$(3.5) \sum_{n=0}^{\infty} Bt^n = \frac{p(1+m)p(-m)}{2} \left(\frac{x-1}{x+1}\right)^m e^{-1-m} \left[\frac{1}{2}(1+t)t\right]^{\frac{1}{2}m} P_m^m \left(\frac{1-t}{e}\right).$$

Hence combining (3.3) and (3.5) we have

$$\begin{aligned} \sum_{n=0}^{\infty} e^{-im\pi} Q_n^m(x)t^n &= \frac{p(1+m)p(-m)}{2} \left[\left(\frac{x-1}{x+1}\right)^m - 1\right] \cdot e^{-1-m} \times \\ &\quad \times \left[\frac{1}{2}(x+1)t\right]^{\frac{1}{2}m} P_m^m \left(\frac{1-t}{e}\right) \end{aligned}$$

where $P_m^m \left(\frac{1-t}{e}\right)$ is Legendre function in which degree and order are equal.

4. PROOF OF (1.4). In the proof, I shall use the generating function for Legendre polynomial as [3]

$$(4.1) \quad e^{-1-n} \left[\frac{1}{2} t(x+1) \right]^{\frac{1}{2}m} P_m^m \left(\frac{1-t}{\varrho} \right) = \sum_{n=0}^{\infty} P_n^m(x) t^n$$

where

$$\varrho = (1 - 2xt + t^2)^{\frac{1}{2}}$$

Putting

$$x = \frac{X-T}{G}, \quad t = \frac{-TY}{G}$$

where

$$G = (1 - 2XT + T^2)^{\frac{1}{2}}$$

(4.1) becomes

$$\begin{aligned} & [1 - 2XT(1-Y) + T^2(1-Y)]^{-\frac{1}{2} - \frac{1}{2}m} \left[-\frac{1}{2}TY(X-T+G) \right]^{\frac{1}{2}m} \times \\ & \quad \times P_m^m \left\{ \frac{G+TY}{[1 - 2XT(1-Y) + T^2(1-Y)^2]^{\frac{1}{2}}} \right\} \\ & = \sum_{n=0}^{\infty} G^{-1-n} P_n^m \left(\frac{X-T}{G} \right) (-TY)^n \end{aligned}$$

with (2.4), the right-hand side of above becomes

$$\begin{aligned} & = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \binom{n-m+k}{k} P_{n+k}^m(X) (-TY)^n T^k \\ & = \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n-m}{k} P_n^m(X) (-TY)^{n-k} T^k \\ & = \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n-m}{n-k} P_n^m(X) T^n (-Y)^k \\ & = \sum_{n=0}^{\infty} \frac{(1-m)_n}{n!} {}_2F_1 \left[\begin{matrix} -n, 1 \\ 1-m \end{matrix}; Y \right] P_n^m(X) T^n. \end{aligned}$$

which completes the proof of (1.4)

5. PROOF OF (1.5) In the proof, I shall use a generating function for Jacobi Polynomial defined as [2 ; p. 262]

$$\begin{aligned}
 (5.1) \quad & \sum_{n=0}^{\infty} \frac{P_n^{(\alpha, \beta)}(x) t^n}{(1 + \alpha)_n (1 + \beta)_n} = \\
 & = \Gamma(1 + \alpha) \Gamma(1 + \beta) \left(\frac{1}{2} t\right)^{-\frac{1}{2}\alpha - \frac{1}{2}\beta} (1 - x)^{-\frac{1}{2}\alpha} (1 + x)^{-\frac{1}{2}\beta} \times \\
 & \times J_{\alpha} \left\{ [2t(1 - x)^{\frac{1}{2}}] I_{\beta} \left\{ [2t(1 + x)^{\frac{1}{2}}] \right\} \right\}.
 \end{aligned}$$

Putting $\beta = -\alpha$ and using (2.5), we get

$$\begin{aligned}
 (5.2) \quad & \sum_{n=0}^{\infty} \frac{P_n^{-\alpha}(x) t^n}{n! (1 + \alpha)_n} = \\
 & = (-1)^{\frac{1}{2}\alpha} \Gamma(1 - \alpha) J_{\alpha} \left\{ [2t(1 - x)^{\frac{1}{2}}] I_{\beta} \left\{ [2t(1 + x)^{\frac{1}{2}}] \right\} \right\}
 \end{aligned}$$

Taking

$$x = \frac{X - T}{G}, \quad t = \frac{-TY}{G} \quad \text{and} \quad m = -\alpha$$

where

$$G = (1 - 2XT + T^2)^{\frac{1}{2}}$$

(5.2) becomes

$$\begin{aligned}
 & \frac{e^{\frac{1}{2}im\pi}}{\Gamma(1 + m)} J_{-m} \left\{ \left[\frac{2TY(X + T - G)}{G^2} \right]^{\frac{1}{2}} \right\} I_m \left\{ \left[\frac{-2TY(G + X - T)}{G^2} \right]^{\frac{1}{2}} \right\} \\
 & = \sum_{n=0}^{\infty} \frac{1}{n! (1 + m)_n} \cdot P_n^m \left(\frac{X - T}{G} \right) \left(\frac{-TY}{G} \right)^n.
 \end{aligned}$$

With (2.4), right-hand side of above becomes

$$= G \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{1}{n! (1 + m)_n} \binom{n - m + k}{k} P_{n+k}^m(X) T^{n+k} (-Y)^n$$

$$\begin{aligned}
&= G \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{1}{(n-k)!(1+m)_{n-k}} \binom{n-m}{k}_i P_n^m(X) T^n (-Y)^{n-k} \\
&= G \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{1}{k!(1+m)_k} \binom{n-m}{n-k} P_n^m(X) T^n (-Y)^k \\
&= G \sum_{n=0}^{\infty} \frac{(1-m)_n}{n!} {}_1F_2 \left[\begin{matrix} -n; \\ 1+m, 1-m; \end{matrix} Y \right] P_n^m(X) T^n
\end{aligned}$$

which proves (1.5).

I wish to express my sincere thanks to Dr. K. N. Srivastava for his kind help and guidance during the preparation of this paper.

REFERENCE

1. ERDELYI. A. Et, Al; « *Higher Transcendental Functions* » Volume I, New York 1953.
2. ERDELYI A. Et, Al; « *Higher Transcendental Functions* » Volume III, New York 1953.
3. YADAO, G. M. « *A generating function for associated Legendre Polynomial* » Quarterly Journal of Mathematics (Oxford) (2) 13 (1962) Page 213-214.
4. BRAFMAN F; « *A generating functions for associated Legendre Polynomial* » Quarterly Journal of Mathematics (Oxford) Volume 8, No 30 (1957) Page 81-83-

Manoscritto pervenuto in redazione il 10 settembre 1966.